


Drhs

O @drhs101 .

www.drhs.ir




Y axao o5 g w8

s 35 p1aS 50 HLT § ki plip! g o Jukal > 9 ndi i g jloxe o laianl 9 oL oal)T 09, Cawyd iy N
o9l cn 09D
R 08 ez Pl 2 Jo (s LW /] wij o0 by Dl Jo Q) (55948 (A
SnBoS 33 (b yy (i AV S5l Sla ] (oS 2 31 5 legd 52 (SRS (s136 50 (&
S8 395 wilinw (o0 19,8 9501 310 4z G /] e 095 come) (59 4a 55wl 98 5l (7
o 393 (590 5 9w 1y axadT Jo wo /] F ol gT1) Al Cuwd g 90 31 (0

el s o (F sobodll g (v s (Y Wl os ()
€5 )10 oty Cawldaiy ;¥ 5850 10 anil b oud ackdeo 539 (g g0mwd ki idi 35 plas ;oYY

203,55 Jerdis ol b 4y (Y s Ly 1, Lo (O

IS oo 1y L5 e WMlE oLl (F il 5 allie 55 wilptallie oLagl S (Y

il Gy 4y 35 plaS )0 oudh (asiden (Gojly (51p SSLeS 53 00 )8 (G 95wd W 93 JB i 5 g plgie WY
(Jgnive = ) ailed Sy 9 9525 1 plipl W57 poles 1) Coe 3oixs oS o ()
(oo = 3ld) - 0383 (55 cant [l ) (69 45 L 30 i ot (F
(allbline - Blae) wad obe 1) 55 plie o o) ol 51 oS (¥
(Woo = 0B) L ol Snslie 2 053 5 s 5l 5 pde ]y 0 pe ild oo e (F
failasd i U &) woliio fudi 99 )0 Juake W paowd 4 35 plas j0 VY
Sk o)l die a ol g5 & 1 ailgm Sl plgs a3 o] e 43 (Y 2 elad &% 0 9l g a0 Sy ayiedyl alass ()
(550 s S o2 A I U P o8 5 syl pdr € don oS00 Sl 3,0 ()1 o e S s j9 e sl (F
sl 4 i HU & o (S 53 (s Aanntly iy 35 0105 50 -0
kT Slg) a5 05 00l ! SLy S a (188 Ao YL ) peiiz 550 55 (g3 5 650 4,0 Jl g T e ()
€y o295 @ Il Slap bz )S
30888 glaSl,d (SO ho b (K8 1 5 et Sl b aw dio wiz g Sl 4 ) gl a8y SO S g 3 b (T

Cppdg &5 > p0
sl g Bl 4y (Slw 5 ool b té Jto wosilcS o ol & s ey |y 995 sy 3 51 eazsl 1 s o Sy SLiboy (¥
oS 5o Sl p cidd (b S5
Siog s Joa Ul ccat i g olgl 53 et by w5500 By g o 5l Al L As Bl aST ail 00,5 le8 a8 5oy b ey (F
Cad all ity 3

Sl b 455 )8 4 Bl 5l glive £o9 90 85,10 5 40 4y 35 plas =3P

i 00k (50 S55[G 020 45 092 il oed o LSS 55O
‘}bu;..ofba).).fsaﬂ).m!s)lya);d.fwb@o;y (Y
A5y Sloalog (518t b aS pogr sasai 1g e 8 s o3 5 Ao (F
Calif o o2 5 1) ighas S nl o aily| Uiy ST o) (6 peiia s Wl (F
flawlosnls a3 olas 4o « g wisLihuogy do o ¢ jlw Jadmgi b Y
e PLANTY L 9 P9RAS (B Hlw P s & dr el b

oS aleSis e 5 4gfr 1) 95 Saany (¥ SEBl (Sigis 4 95 5Ll )3 a5 wibs olows; rede il ()

sl Wlgigud i ) 3 il o5 90 (0 FS 258 (o (F sl ailgfigo J55 (96 45 gapm (i g (T
£ )00 Loy 35 ;03 L (5 pkeT (copedo Sl B ais 35 olas -1A

FEOLS 955 5% (g S 03 0 a5 1 (55 Olidp la Sew e O LT e 255 92 (O

Sy g (b5l Line 3,05 g L S o/ blis g ol e dle o 59,65 ol (F

5 oS 3o At S s 5 15 U1 965l p s Sy e o 5 (T

pels o 551 093 S I el 95 Sl 5 Ol Ty (F
fal Jol & pan potdo dasli 10 (5 y1guai (—Bliun pgo £ piso 4y i oIS 53 14

Lo o292 WS (a9, &S ugiins i Ml il S 8 als s i s O

b ol ol sbiee dh o 8355 11 (8L (109, Ol See i 2905 2 (F

Cesle (gione Cudirg Sl ey (o8l a7 9T I (gameg o)l 4z 5 piome (g e (el (T

b le auS o oy e 0,0 Sl 0 jailen 1) Lo auS oo T3 S jo )l dae S (F




F amio o055 g (g U8

€015 (sostho B 525 & pao Byl porin b 5ol (s iz 3F plas 55 Y-
€nd Jl83,5 4z yp W Sags slor ap
asb ez Lo 0090 Heme o1 50 0 pals w8 lem sl a5 o e ()
Sy (6 yo g 43 L aeS ol 1 S )5 g s LB oS> a4y Lo, (Y
o> pllae 4 03,5 Lo, SIS0 a1l a5l 35,009 51 97 4z 5 0> (Y
Caslaz 5l S sl 6 pa oSl ceslys 1o cde dS 5,15 T a0 (F
o515 laead aady 35 850 L 4y 3F pIaS 55 Gl “Caiiglod? 5 eyt sl | Juols pyae —T)

09> 08108 e (F 9 Olowsl 2 (e s (6 ()
aslo; Jo sl pomiis 9 (F A o Bgo e yilas 00 5l (Y
03,5 sostdio ul ) ady ¥ )0 b a5 plas” Y
Gy iy s laie gl ] e S iy (6l oS @il S @M (¥ Gl oy s o 3,105 85 ja ol 3l ol 5 92 b ()
3929y 55 J S0 oS eol il Gilai o)l 5L a8 ol oy (F o Supd 39 Blie oF ) Jo 51 @)% oy STatls e 5 (T

03,05 (5 puien (o900 Suil)B 1) & paae b 4 8 plas’ VY
«tawe s Lebo b oig yo oy Lwgo b»
335 sl Ol (S5 Gl @de S8 oz 03 ey 5 (Y 2758, jrilod ([ g (] 28, 5 SuBSS e S Sl > ()
3,355 30 Lo ol slan 1 5 S5 Ly 5o g a0 Yole oby 52 (F 9,355 5 Lo leS S Bl 958 o Lo 5 (15592 53 0 (F
20,00 cogbdn ol a3 oo U a3 plas () Cas o sud pasde g)luiwl gudlio g azgi b -YF
€3,38 3 el sz g b [ Sl e (g dibo 55 45 (53>
s 0, g @l 0T Ul /] LS te oS 1) LS, gy S g3 w51 ()
Luui.aLo.ba)ﬁ..awLo.b// lﬁfoﬁuscﬂa‘ob)‘;”o(v
LS 20,5 1, o0 oo g Sons &S 1 ol pl e g 598 S 5o e olLS (Y
2y (5995 42 5 S e a8 (ol a8 (LS o 5 (F
o1 Gludait Mols' Wyl oo 9 53 oo 3 amil U oylgi g0 Ty 4l 3 plaf pagin  -YO

o5 o130 Jas 311 peed &5 Sl Olg 50,5 Wb Sjlas 1y T Camloud Ol jd g0 &5 Sl aipls 4 el Jolor
P59 Ko g culid g JF @ s Gzl 45 (0 Sy g5 g ol sl

Sl poye a5 4 Zasye Il s lalez Dl S az 4 (Y Ju b ) sy J gmen I j9e Sl Sl 5 Sl 15 ()

@975 QBan bl B b sl 95 el (F ates s Jo 290 i azsl I st b i Gl 25T (Y

ol o) espe

(Yo - 1) Ll Y ol o daasill Glgal) B 3 5 i e MW

i CpasSall o (llaa g ) (o 088 Lay O galay ragd il by S
1ol ,18 EaBaitls ahF SHe g i e sy )85 a5 Wings il (e Gligs S (gl ()
foal ools 15 GEazazals T 5lels ol oy el L o180 55, a5 Gilay Crapd B gH (Y
b go J8 Gleel) 5 g aedin 1o 0150 55 a5 azdly o (s gl IS (Y
ol 518 8 550 51 e 5 a0l e em 5805 a5 wiogs oS o liggs 2 (F
et claaladl A1 ag sl o ladtly lafuds) LadEN Sgaa flia Y
bogise st ol 5t plilaais wolBasls 4 fjoel il 5555 Zodifge b ()
S o Slasls 511, liael tils (sladi s LaolEitils 4y 555 Copibya (¥
Tl 00 5 (g0l 5l LoolSails a5 0555 40 (5355m HolE a (lgal il slaascw (¥

1390 ool 31 aelSitdls &) 39,5 sl Conge b jgel il (gloain (F



o8 by e

laaly ey b oualadl o5 of B L0 A g Leady slall dad —YA
1l 20 g g0 ey o jo Ty Tt ol as T > Mw@ﬁytﬂjﬁ(v
o ) Sz g0 ooy S 50 wilgs g0 aS b 10 aad co &S o 1) e Sew p bl (F
sl psall e (a8 4350 £55 i3 sab Y4
WS oo JB 59, i ) oSy s ibpfo o alpen il ()
g s o (6t gy b ) 1o 45 Lo (1,00 (il (10 25 (F

1S e JB 5y a3 jieSTE) (5 5k aS o ol e a5 e 03 (Y
Byge Mo gy o J 55 s b o8 oo/ e (il (F

tecllaan Byus Ay Glala) BaY obu G Aa g Ladar Y
ool Hals oot arnSls sloaint dos «uiFih 25 8les 5l piwgs 28y ()
il o aruSl don  Slails glaacil (5 an | pisgs cuiS 3l ley (F
fago oad aSi ) Al gloai. & don wcaZ 3l 0 jan 5l piwgs a5 Slej (Y
s eads anuSs Koo by plails gleas b woad )y hjae jlpige a5 K (F
rAalil) Jagh Sl gt ) Ll B agté Gob Auiia cililga LisaLis —1)
Toaded LY o3l 0,0 Dllgs o)l (guils ol oS oo ()
ol geld ails iz o b Ko QT aS g plisleasy Loy b K o 1) sleas;o SUle (Y
ols cld aily Sl o a8 s ole s o laay ooy s 1) glews o ol 5l (Y
1ol cald aily gl 0 oS ass b S 1 0 laasy oo 1) gloas,s Slils (F
Al (2 - Y'Y
153,51 il 6oL shlan S 5wy 118,58 Llags 4l Tgsla 53a 2ay (¥
265 aalys oS Sl 65 o ed ot gy sl i 1O BUY Al LSSl S50 Gaatin (1
1250 oo 51y isas o s LS oo 1 UL Gaaly bl By (¥
parsall yae ~YY
159y 00 ytalas fpedhd o )® 5l en i1 Gaall gha e )SLL]\ &by
B )lt et Ol S 512039,5 95, (Lt 15288 (6l 1555l 1S 3 Slaall Cuby 2 pgelial g seolyall (i (¥
13,08 1) Sloaliiy (33,8 6 P wad sl ol Lads 1! alinaly ¢3¢ Lialy) Aay L) (v
1063,5 ey (s 4 £9,8 N 3 lypel Liols 1Calall 8 cda DS o salfy Baadhall T
sctibpanl Wagys coa 588 T gua B 5 3yl 3iaal) ) di By - vF
oS so 58 )l Olaalos S S 5l mussiee Son SEL & 28 (A
e S om Ol oS 5 6ok Sl pSe 5 mgye 5o SoEL 4 (Y
' S o0l lapaSe plisla; SladS 5l g magr 5o gl 4 wls (F
I 25 Loy Glo S 5l ook GlaSe g mgp Sy slagh & auls (F
P o3a duadl (pSlaa Gp 2l agy sl Cadld (v Piadl e 1 c 2l a0 b il A5 o3a ()
P o3 Aaall (Slia g Caald aumd) g sl (F PR 38 Aaall o o sl ag Gl leal (v
el clSa daua 8 adl) oie -rs
@D Al 5 el (v LS 36 1S Al dal fhe JLLINAAE Y
loblaia) 8 Geandi el O A2l sdtaud U6 (F falua) s3le 0e Aa3h 54 O Jgla 5301 () Juadl aml) o

teialadl 53 0

elalsd) Gl n bada B Uil e -y
e 5. (0 A IS B e 6 o SR SO ol b il &1 0 N Cin D gl e
Lagion 5 Cpnldd) G50 Llas A 5HA 3ot i A F  teuhaall okl Lle A8 A0 Osiadl pua Gl& e Lull) (r



$ azio RIS

(£+=YA) (dyall Juladll g QleY) A& asaiall e B E

o & A ¢ 5 T 3L -TA
«hehy Jail Jeld /3,56 Kia - sy anl 1 IS (Y i [ 83 3jha_ (;a)xs)u DL i 14 0
iy Alpria 5 Job [ pgbea - lall ale e rla (F (B Alpua 5 b a0 e i e ek Ll
bV’é&:‘..ﬂ.&S&ﬂ -¥a
Aled Lan caleld e 5 Jud [ asbae s J B0 53k (g L Gailall L ale Jad sl (0
Al Alaa caleld a5 Jud [ (€ L2 B3k o) €l stean - (N b - Gudalaall Lyl Jad s (v
iR ail (4 Jpnie=) Jpmia | €Al o3sin eSS gan 141 (¥
Tled Alan caleld e 5 Jod [« o o9 33k (a - gubalaall L el a1y, (F
i Bolmll JoandiSh (plill 15 Yo —F+
Jeld 5 Jad [ o0 2he L cpdlall | g 5laa Jad 1150083 ()
Wyl Jadl (43 Jgmiam)Jsnia [ I iima 82 L S pan /s aud 1 401 (¥
Ll Al caleld a5 Jud [ sl 00 Daa L bl _ g jlime Jad £l (v
Wy Jail (43 Jynia=)dpnia [ S 58 5 «G2en odjha _ S gan _ aul iglaall

3 39l g Sy gt AGgladadt ludit ) a5 Sed B e g Ae bl Ol kil (bl paay dlia
fal i adal g RN Ga Bp L 5 (0ol %) A SLRIY) g sl AL aludl) ga eall B ASY W) el . Adaal)
ASluaihe g ddagyd g i)Y A Yy A ojlak

Lagll g b Baaly 3383 Glawal aglS s LYl 5 Juill 38 58 (0a) ) 2 0 e Gl g JAON g KD g AL Glay)
B b Ow Al adl) e XG5 g AAN 5 pLAY) 5 (GBR Glu) Faled) Wil g oo ladaY) £ ey g L
SAIR) g G CLUDIANL BN B L CEAY) Bake (e galdll) 5 cilaadl § GLAY) Guu Jlsad) e plalall aje
LR 9 QU e CiT g 5 qupndd) G £ RN g Bglamll 5 cag el (0

peezall i P
Ll JAY1 5 b2 G selidl e ggins SLYI ek (¥ Haabi) ) 0 Y 0
las e G Lo L)) b (F 1AiE e Jpeal il 503ie L5 5 oLl B gen ¥
Ul (2e -FY
Lol AalS Logiy 2 SR 0¥ ol 3 gn5 00 5 Y (¥ opalaal 5 Gfmpndl g CDAAD A Gl i35 (0
L o e B Jped) 0 THAY 4 claY) il 8 f B 5 gl of ahad ) S il LA
PR 2 e lalad) A8 38 . ZoetY) LA Aoy LAY Jasi Py
LN lsall - (La) G Al v tasndll g capal) sl - Ciblzaaldl s lsall (3
Ll 5 RS e YT 8 _ LeliiaV) Jpally L (¥ tedaall sl - ATAN 5 elaY) 5 DY) gl v

i 4d ol La 036 - FF
S e adill e 3 sSS e aaill (v §ai€ L lgle 5 CuuSle b (0
febd ol Calad 3l yaa oF dlad e ls) (314 L (F B 5 zadl 4 Bhey! Baad Ssh (v



¥ axio ol B o) e

: S0 1ayae Sad 4d La i —FA

Cosadar ¥ ol 5 pada pdl g ) (Y TSy O aie Cypallas g 40 s Gl ()

Pag S 4S8 J6 a8 Q) i o) Gl ) OS5 (F L o e Sl g ks T il Sl D (¢
:Uadl e —f5

Loa Y e Ciladad : gladl (v Tolgad) eliac] o fuiae sl ()

L) e Al el o asnd ACEAD (1A iyl N LAT S 31 gt sl (v
g hill maaiall (e -FY

(&) - oSaf ) vie SRl 08 5 Ugnss oSUlaa (r () 1) 8 agaally pafims o Gl TR e )
() 1S pallday Cpmallll 3D L sl t (¥ (&) ol el 5oni J6: (¥
Adad i ae b JE Y 3 Jusliall yaall (e —FA
iaalall o Saf 48 1,88 AU Jagll lls (v Ayl S e Lo Lo o GEAAN DU 30 Gsaibe ol )
ISt GLALl Jlias 1558 451 oas Ja (f 1ilad e I aaliieda (Y

1 E9i B paiall i PR
(il A8 A0 ¢ . 4 WAL Y Lo bkl Y oW (v (Uil RAE)_ Al 14838, Y L adle il 2L B Y Gleka (K ()
(AU ! el ae 36 Y 43h G0 Ledan 28 AL o3a (F (Lpuinl) A0 - Lfsal) Tla Y oY 1l S0 L T v
s« ladly Qa8 A= Ldaa (o8 B

Higsa latd piagall Sl ity (¥ P sl b Sy Aalldady flait ()
ol ) el e clady) JE e BV s L (f Teaydll 5 JSYY e iUl winel (¥
SHe e

oo plaS 05 (o (B e Ll (g 1) () p )51 ol Jleste wiglas (151 g ol duorgi & o plaaS 2ol o) cosIlo -0
fasS o0 Ol o 920 1) Cu¥g )0 g
| 5‘ LS‘L“QL‘)‘Q EJ..'.;L.J) \.hjl‘.\> ;.Aiys S..L:.ub (up) ).‘AL:.; - u.:.a.”} 5o VT 2%} )
el 03gai J3Slg (2] el 4 1) Her CoVg wiglas - Gl o g (F
] 0dgas )lx‘a (uo) )...gL:.: 4 ‘) u“-lP WYB ..\39“.\5-_ WYB ) Xy X
| 9‘ éuub; EJ...'L-J) \.hj‘..\> Caiy$ :LL:..:‘S (up) )...AL:.; - WYS ) AVE Y (f
S 45 S g ol B! 53 (55 oo ol 4 1T g s 145 U 45 5008 4 45 (oS 005 015 ST 4 amgi b <BY
1291 Wiblgs  Jgonsl amaii 42 (lyIs Wiyl 5 3a2 b slee 4 1) (! Olosy
Sl cod &8 iy o] ol 58 LT agi 5 a _ 0gd e anals oS e ) olegl 5 O
Cails analgss 3T 5o Glo o - 09l oo Azl oS cgn ) olegl o (Y
il aialyss Dyl (slo s 010 wsles eols g 4 ceslie BI0L (5353 4 (V
Db ses abply o) ol jo Ul 4y 35 ol anlys esls o gonlie ol 045 4 (F
Tl (g 5Lk plaS w4d {2 s oLl S e :J'L.;} 15Ol b las oliy & olail Jb oL ofuls ~AY
Fop 5 SN 3L ally (F 4o, 5 oW 5 iy o £zl sty (v fols by JSH O
L wld digs (pl o Uo» a5 091 00,5 oLl Lol 31 b by @ aS ola)b g ab ) ccaw Fuwly j0 (8) Golo yax> plol —OF
f3090,8 oFwl ax Canlgr o3 |,
Cel 00,8 wges plasle; 4 1) Glage Walas g lage G ) sl ) ()
«...\Ju_a S ool las eadys 1) 093 5 093 ar 3o, g o)l cenge 1) ol g ST laie aiglasy (Y
«..\...,.vl.; 4......4‘)] 9 aJLA] 950 Js;; ut—nao Sow ui:‘o.\..; 6‘33 J)L) Cmrgd GIL:J 6‘..\5-» s
€Cxlo ) ol etz by (U9 0050 @gas 5 e (S5 JaulpS o Lo g b (F



A axio SNy gm0

ot 4z Dyl e Db i J) S Y ngllh 0,51 el labio g 00 )F o0 HISET aigfar «oles ooy 0 yal
! £ 9u0g0 plus

i3l g b - Lasloazad lagSCs (¥ S b ol calin o glglio ol culs, s (O

Goieli g a8 - ol culs, Gl (F A b ol colis o Jlel - skl ol3sSs (¥
45 1) S CengS (S gl daler S 50 > ge b oyLul Cal £ 9890 (] WS G0 (T B oyl plaS il Sline o othe
Cu Ay oo Sl 00l 1) 40,5 CwgSe 42 Ul @ wiglas

$5,501 5 Ll s ages Je Cdal) (Y §-Ug) 1Ssae 5 ga0e pins N ()

$olyn agh Sl w I (F {0 e dlaa e ol e g3 (Y
Sl @ 1) Lo €09 g0 jpduxe 395 Dguixo b Cunld g 50 S 12 iilo 8 o0 (o) ekl LA pulic proly 45 LT
€010 lalen Coly, ploS b £ 9090 ol § Wi (0 (losdl 105 4 Cumo JUT

S g 1 gleasS oy e b o8 5 aS S - Wighis ) (Ggpm (V0 )5 go Segs &S il g2 B3l ay oLl e 5l asglas | gg e ()

S el o Sd (g 3N (L )L sl g (B S0 s gl S o o i a8 S LS (lga b g (F
Colad 03,5 cre il AT ouake Gow a1y ol § WS g0 0,101 1) L AT Canl ik HIF5 59 9P AT adl aisne
S’ SLiiasl ouilyi o0 (T 8 SLa sl 51 S pIAST & €0 g0 oy 419 Blod oo

§ el il g dlyh — € s e w00 e L) (Y §aardl il g By L el IS T ) ()

(5ls B 2 pn U € s oo 990 2 o8 L) (F €1 b USH 2 ST o) F
P (90rol (gLouoley 51 aiodg 5 jlomns @olgar LS 50 yed Slomns olaar ol Mady 9 Gy e 5 g (Tl
o1 ailgled o b (G158 0 lee plas g ol

Golsn 4l 3551 - g 5 CaSle S 5 T 292y ()

¢ LV 055 Ul = gy 9 2aSIle S50 51 50 0529 (¥

§ eVl oS5, Ul 2 a5 U Gl gl laid  aol (i 0 a5 jph> pue wights gl (Y

dolgm agll A3l e 105 b el gl i 5 a0l LB s 105 g pue wighas Sl (F
ad i hlie jo wiglas g 3,10 o )Ldl Cwld (leS 5 olaald plos & «usds o ploil a5 1, asil il g0 S8 & le
€005 o0 S 1 ol e 4z (B L Tas &) WS g

ol (Sle 1) - adl 5 Ll (Y §rarl B e aih - aesl y Ll ()
frerl sl e i o ol SOe (F ool (Sle By £ ol S (Y
€010 el (T &y 4y pb oyl IS g Sy (59,51 Jguazin S (5l s (2 5 clin § 0yt
oo obaanwg = Jie (F 5,51 de e Liadl = Jae (¥ T (ypbaarmg - ol (Y s de 5w Ll 2 s ()
Sl oS () g8l () Jok o o35 (5158 ey 50 9 WS (o0 alaid L3 590 B> (53,9 3 itz ST 12
ORI P NN Pt O RVC S WS IRt IR | IR 4 LS 5l e 09> Joe ol 25Tl Ly ()
g B« e 3 ol Bgeld s 4y 251 ol 1y (F SRS 55l s ol gal 3 bl 4y T ol 5 OF
§ sz 839 0708 (2 Fiaten § Sonl 1 ity 1) (4l PS> e g ddandd 00T A5 (3l O 3L
Kglas SS s e alowl 1y wights Slygius g ity c3ls L(Y cbilis — as e alodl ) wighs o el 6 miy e | ()
Hghas 3o go Combias 4y ol Dl jgrs g a8 alas (F Sl il o Codhan 4y dl S jgs 4 @SS eled (F

of 53U g o)l (oloxi plas 10 Wighiss slagyloyd 4 (b polgl g 5 5 Sgeme (g &1 (s (5150 5315 158 (ygamels Selgo
il salym LU a5 oI G0 S pie st - € all e oSela L 1y iS 63 ()
el gt 5 099 St 31 Flie & Blite § argugs Sjgo s £ e oSels L Ty S ) (Y
oels anls LU Eeasd 5 ollb g, S e asd - §0S, ade S Ul (F
el y95m 9 9> S ) Sl &5 Bl 5 aigu58 &0 4 ¢S ade 80 Gl (F

-0

-bf

-ov

~-O0A

-4

£

~#Y

~-FY

-5¥



q axio S99 9 om0

a1y ozl oo oIS WS g0 et 1y ol 9ed90 5 by 0055 Su03 83010 @y o5 50 dighis S L

st Olady 00501 Cewd 4 g 01,8 Aiglas 4 o ooy o ! Die g CeaSe ()

58,50 18 sy dl o ge g al aislid OBlae 4y L ! Do g CweS> (Y

st 1985 (59591 Cewd &y 5 02,8 Wights 4y Al Sog - wighas (Sl s g (Sl Y

OB,55 5158 Cudl o ge g o sl Slae 4 - aiglas Slsge 5 (S35l (F
W :‘S.’.J\ j:;L-i’J.” oF U"J Ml Q\ EM‘ Pj‘)%} 4.53).:) Z.J o )'LOJ o> 9 pS.’ O)Lg)é ‘QJ; ..\J"..\’ ‘;4.33
iy S9dg0 cumnd JO (12l (Woly 41 g hsloi g 59T0L 1) (gights o pluS g oF oo

¢ il b1 Zal) Bloaty & Le ailislo sl - gl ple (¥ ¢ il b1l Blaaly & e ailislos o -/ gl CeaS> ()

A s e st 2D O e S g b S (F A 5 e amidl i) e 1S 4L ol ole (¥
1392 ablss Lo Clgo 4 o SHAIT (ol e bl sla S g HUCS 9 S92 g ) )51

el 55 anale g Ylawos 03 Sodsdie 5l aae Ll ()

A3 ga )P IS8 G dlg 1y 093 (58lls g (bl ol chode Gl (Y

iyl 1y of gy Jgal bl ay oLl 5 3 a5 WS e L i oLl (F
ol 0335 9 5ol oS iles 59 003190 Ll g 393 a0 sy Aws e 9 ilos LT )0 59, 8 3 390 Fmyd Ty (608 ST
Cog) alg 4558y o5 4 953

2 S Wlgi ged 52 039, 9 AeSD Slai =10 150 059, Wl ge gy Dj90 ar (B5led ()

= S Wl ged 55 059, 9 AaS (5led -3 0% Wil a5 039 5 Ceesl A8l sl (Y

2580 aals 5 039, 5 Zend JolS 5led 10 50 ile el 09 9 el Al kel (Y

S b 5 039, 5 el JolS iled =0 150 055, Wl se (g pal D0 4 hiles (F
plaS g wilodge ¥ az | las  wgd Gowdery 4l cdiglas b (Mo g5 (pxoll Glabin (gled (0 (£) ! (3 e ool
el oo gl of Kile ads p &)lus

$ ) WSemud 2SS LSl g5 el (Y PRI BRI ICE | R Q)

£ (Somud - gl 5l pad oK, (F £l Dl - gl 5l al olo R, (Y
3 ol oo ighas jliwlys T U 4S ol p1aS o4l (855 olans Adg5 250 () simx (ot (gign plol 208 G315 10
30,5 (00 (reti 1S )0 g bl 42 Gl (gl Cligi o

Lio - Jlest o tas 0l g 5les (F o3l Jleelmool)l g pie (F Lo o IS81 2 oz oL g 5les (Y STl S8 eoll g pse ()
Sl T a0 o pI0S g Caal Bl (o ST )8 @)l pIuS )5 pade oluil i b

LI IUSINE L S TE R g B KV (VSR N I 3 PR Ve g

UL IS ISR o GPSPNY I RS RV SURCL S0 I OV AL L

a‘)ﬂwd)lfoydb‘ydlalf"aa;m R by-e{%i\)‘:,_’s',@)::u;; ¥

ol bt o (5,157 95 salgs 45/ ol8T 03, iy cpiz 1, 55 - &allAch Wiy (F
TS o0 ST 15 g gugo 1S iy b g Catal oS il (51,15 g ol T (£) (e plof ol 5

iy 105 L 85 50505 51 il 2850, g RLT cosiS ()

g o> L oS (s0gge 5l ubloe - ciicde g cams pe bl (Y

J)D ‘_g‘).a °°‘)‘5|‘°‘3M: u)..i.‘a %}EJ_WME-C BM 3 g)""""‘) (\‘

&8 > 6lp o3} g el 08 L gii - I8 59,9 el 208 (F
$,15 (o1 00 ) o az g Cansl o 0105 (9000l (glatoly 51 ol punnd dgal 4 3 55 9 )lg Adis g S s S (i3l S35

bl ol s 5 wlelezzrt 4o 65 ga> talS = St st 9 Byyme 4l 5l g fongs (3

oolgls p 5 (9l5 ple jlien Sio 5l g 5 Bgpae 4 ol 5l (s 0095 (¥

Qlﬂ sl b g Slelezzl jo 6y jga pals © Ulae 5 Gl Slelye pue (F

-£0

-5

-$¥

-$A

-£4

_vo

=Yy

Al

Al



Yo

dxino SNy 9o

3 092 walgs b sbgy 85 pluyous G5 w)le el pule JT58 (Fely Do 92 g dhadd (gl pualgss ST -VF

i 410 ‘siwa p|’§| g lacdo Pom) g g.ubi a 4.'5;]

Sl g5 5 (KigSz - § b m ol (¥ Sl 9> g g b ol O

o> g0 5 SigKa - § i3y Wb (F Sl 3gum g a> A 55 Wau (T
Sailod gn 8 a3 (5 3laeS 0340 cyiogadl puol § Sumuz &b Liv g e JHlxons!  -VD

5 6l wahlogs 5l o0 - Ll el 8o ,e g Sl 5l ok el ()

Loseyia s S50 ol oadiani = Ll slaoli Ao 50 5 Jloa 51 s 0l oolant (V

o5 6ly 053 51 590 - pleings 5 (FKaul)l ) Ly jis g LIS (Y

Lasipe 5 530 ol e = pleings 5 (Sal)] 5o Ly yas g LI3I(F

S

Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see

four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

76. Television viewers are sometimes surprised to learn that natural histery programmes
are often a lot more popular than soap operas or films. One of the --—-------- presenters is
David Attenborough.

1) more famous 2) most famous 3) much more famous 4) as famous as

77. We ————ooeemm the low prices on a selection of summer suits in the shop window.

1) have been attracted with 2) have attracted with
3) attracted by 4) were attracted by
78. Fabulous weather! It’s been really sunny today, ---------- ?
1) hasn’t this 2) isn’t this 3) hasn’t it 4)isn’t it

79. The cure for bad teaching is good teachers, --—-------- good teachers cost money. So we’ll
have to budget for that.

1) and 2) for 3)so 4) or

80. Although other astronauts did it later, Neil Armstrong will always be ---------- as the first
man to walk on the moon.

1) developed 2) pressured 3) defended 4) remembered

81. We know some of the brightest stars by name but there are others for which we have no
names.

1) specific 2) possible 3) countless 4) moral

82. Helen Keller has been an --------- for many persons with severe physical handicaps
because of her remarkable success in spite of being blind.

1) attention 2) inspiration 3) heritage 4) decoration

83. The Star Wars movies are noted for being ---------- about non-human characters who
live in distant galaxies.

1) regular 2) inventive 3) frequent 4) worthy

84. Idioms and proverbial expressions are tricky for non-native speakers because certain
words always -----——-- in a certain sequence and sound wrong if the sequence is
different.

1) go together 2) go away 3) get along 4) get around
85. Because of his leadership, George Washington is —-—-—-- called “the father of the country.”

1) appropriately 2) suddenly 3) surprisingly 4) meaningtully



86. --—--—--- , 1 got an A on a math test. All that studying really helped.
) At most 2) At least 3) At best 4) At last

87. John knew that asking his children if they wanted to go to a movie would always ---—--—---
a yes from them.
|) repeat 2) provide 3) elicit 4) solve

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Part of growing up means taking more responsibility for your life and actions. But your
(88) ~-----m--- of responsibility and independence may (89) ---------- tension between you
and your parents. (90) ---------- , listening to your parents and (91) --------- a line of
communication open will show them that you respect them and their wishes. (92) --------- ,
by respectfully disagreeing with your parents, you may be able to come to a solution that
satisfies both you and your parents.

88. 1)sense 2) emotion 3) factor 4) notice
89. 1) lower 2) cause 3) report 4) register
90. 1) Anymore 2) As well 3) However 4) Also
91. 1) keep 2) by keeping 3) keeping 4) to keep
92. 1) An addition 2) With the addition of

3) In addition to 4) Additionally

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by

Jour questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then
mark your answer sheet.

Passagel:

The locations of stars in the sky relative to one another do not appear to the naked eye to
change, and as a result stars are often considered to be fixed in position. Many unaware
stargazers falsely assume that each star has its own permanent home in the nighttime sky.

In reality, though, stars are always moving, but because of the tremendous distances
between stars themselves and from stars to Earth, the changes are hardly noticeable here. An
example of a rather fast-moving star shows why this misconception is common; it takes
about 200 years for a relatively rapid star like Bernard's star to move a distance in the skies
equal to the diameter of the earth's moon. When the apparently negligible movement of the
stars is contrasted with the movement of the planets, the stars are seemingly unmoving.

93.  Which of the following is the best title for this passage?

1) What the Eye Can See in the sky 2) Bernard’s Star

3) Planetary Movement 4) The Evermoving Stars
94. The passage states that in 200 years Bernard’s star can move .......... .

I') around Earth’s moon

2) next to Earth’s moon

3) a distance equal to the distance from Earth to the Moon

4) a distance seemingly equal to the diameter of the Moon



W oamio S

95. The passage implies that from Earth it appears that the planets .......... .
1) are fixed in the sky
2) move more slowly than the stars
3) show approximately the same amount of movement as the stars
4) travel through the sky considerably more rapidly than the stars
96. The paragraph following the passage most probably discusses .......... g
1) the movement of the planets 2) Bernard’s star
3) the distance from Earth to the Moon 4) why stars are always moving

Passage?:

While the average European knows more about American history than the average American does about
European history, there is one document that-every American school child has heard of that not many
Europeans know about: the Gettysburg Address. The address, delivered by Abraham Lincoln at the
dedication of a civil war cemetery in Gettysburg, Pennsylvania, is considered to be one of the greatest
speeches in American oratory, both for its duration—it lasted a little over two minutes—and for the legend
that surrounds the writing of the brief speech. Contrary to popular belief, Lincoln did not write the address
on the back of an envelope, nor did he write it while on the train ride to Gettysburg. There are five copies
of the Address in Lincoln’s writing known to exist, though the wording and punctuation differ in all of
them. The “official” text of the speech is generally considered to be the wording found on a version
referred to as the Bliss copy, written well after the Gettysburg event and the only copy of the text that
Lincoln signed. Even the texts of the speech published in newspapers at the time all differed somewhat.
The first few words of the speech, “Four score and seven years ago”, are synonymous.with the Geitysburg
Address, and it is thanks to this speech that Americans know the meaning of the now infrequently used
term “‘score”, which Lincoln thought would be more poetic than simply saying “eighty-seven years ago”.
Of the five copies written by Lincoln, the Bliss copy lies in the Lincoln Room of the White House, and two
are housed in the Library of Congress. It is not known which of the five, if any, was the copy from which
Lincoln actually read the address.

97. According to the passage, which sentence is TRUE?

1) The writer probably thinks that Europeans have a better knowledge of American history than
Americans.

2) The average American probably thinks that Lincoln wrote the Gettysburg Address on a train.
3) People today still use the word “score” to mean the same thing that Lincoln expressed in his speech.
4) The only copy of the Gettysburg Address signed by Lincoin is in the Library of Congress.
98. The Gettysburg Address ..... veesaee
1) refers to a physical location in Gettysburg
2) is as famous as the Declaration of Independence
3) lasted just over two minutes
4) was written by Lincoln on the back of an envelope
99.  What does the word “score” in the opening line of the Gettysburg Address mean?
1) eighty 2) twenty 3) decade 4) year
100. Which of the following would be an appropriate title for this passage?
1) Lincoln and America’s Civil War
2) The Gettysburg Address: Fact or fiction?
3) How Lincoln wrote the Gettysburg Address
4) Lincoln’s most famous speech
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